CBT DECEMBER CLASS X ANSWER KEY

I.Answer Q1 to Q4 based on following paragraph-

For centuries, silk and spices from china flawed into Europe through the silk route. In the 11%"
century, Chinese paper reached Europe via the same route. Paper made possible the production
of manuscripts, carefully written by scribes. Then, in 1925, Marco polo, a great explorer,
returned to Italy after many years of exploration in china. China already had the technology of
woodblock printing. Marco Polio brought this knowledge back with him. Now Italians began
producing books with woodblocks, and soon the technology spread to other parts of Europe.
Luxury editions were still handwritten on very expensive vellum, meant for aristocratic circles
and rich monastic libraries which scoffed at printed books as cheap vulgarities. Merchants and
students in the university towns bought the cheaper printed copies.
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Q1.The route known as silk route because:

i.Silk was the main item exported from Europe to china
ii.Silk was the main item exported from china to Europe
iii. The color of this route was bright yellow

iv.Travellers were having very smooth joiurney on this route.
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Answer- ii. Silk was the main item exported from china to Europe
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Q2. What is incorrect about woodblock printing:

i.It was invented in china

ii.It helped to spread printed material at cheaper rate

iii.It was very effective on porous sheets.

iv.this technology was introduced in Europe by an explorer
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Answer- iii.lIt was very effective on porous sheets.
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Q3. find out the incorrect about marco polo

i.he was an Italian explorer

ii.he stayed in china for many years

iii.he introduced Chinese printing technology in Europe.

iv.before woodlock printing European were using only metallic printing
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Ans- iv.before woodlock printing European were using only metallic printing
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Q4. which of the following is not correct about vellum?

i.a parchment made from the skin of animals

ii.it was expensive and used only by elite class

iii.the written material of vellum was generally nonserious fictions

iv.after introduction of woodblocks, vellum was also accessible to merchants and students
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Ans- iv.after introduction of woodblocks, vellum was also accessible to merchants and
students
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Q5. Identify the person with the help of following features:

I Born in Tokyo in 1753
ii. Known for his art form called Ukiyo.
iii. His art influenced artists like Manet, Monet and VVan Gough

a)Kitagawa Utamaro b) Marco Polo ¢) Kim kinstein d) Kimp valenstine
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Ans- a)Kitagawa Utamaro

Q6.Complete the following
Hand printing is discovered by country.
Hand Painting is brought by in Europe.

a. Japan, kim Kinstein b. China, Xi Jingping

c.China, Marco polo d. Europe, Tim Valenstine
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Q7.Match the following

i Software technology park a.Bhadravati
iillron and steel b.Amritsar

iii Cotton textile industry c. Murshidabad
iv Silk textile industry d. Bengaluru

v Wollen e. Shahjahapur
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a.i-a, ii-e,iii-c,iv-c, v-e b. i-d, ii-a, iii-e, iv-c, v-b

c. i-d, ii-e, iii-a, iv-c, v-b d. i-b, ii-c, iii-a, iv-e, v-d

Ans- b. i-d, ii-a, iii-e, iv-c, v-b

Q8. Which of the following led o expansion of the fertilizer industry?
a. Liberalisation and foreign direct investment

b. MNCs(Multinational corporations)

c. The Green Revolution

d. All the above

Ans- ¢c. The Green Revolution
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Q9.Assertion(A): India imports potash from other countries.

Reason (R):India does not have any commercially usable potash or potassium compound in any
form

a. Both A and R are true and R is correct explanation of A.



b. Both A and R are true but R is not the correct explanation of A.
c. Alistrue R is false
d. Both A and R are false.
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Ans- Both A and R are true and R is correct explanation of A.

India imports potash from other countries because India does not have any commercially usable
potash or potassium compound in any form thus Both A and R are true and R is correct
explanation of A.

Q10. Which of the following statements is true?

a.Democracies have had greater success in setting up regular and free elections and in setting up
conditions for open public debate.

b.Most democracies do not fall short of elections that provide a fair chance to everyone and in
subjecting every decision to public debate.

c. Democratic governments have a very good record when it comes to sharing information with
citizens

d. Democracies are free of corruption.
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Ans- a.Democracies have had greater success in setting up regular and free elections and in
setting up conditions for open public debate



